> A
A & 0l & AF 2 E A A
20198 &= ES0l4a LB H sS4t
N sE&N
HE: sS04 B B (SYHLLM/5Y - 55)
S9l SYASEH JIUES CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sS4t 6,960,492 7,064,018 A 103,526
= 651,094
J| 839,686
< 815,300
Al 4,654,412
SEMY WY Lo (ALY - &) 6,239,185 6,357,714 A 118,529
= 651,094
J| 839,686
< 815,300
Al 3,933,105
SYASEM Jletxd 624,170 1,169,770 A 545,600
= 45,570
Al 578,600
HEE 2SEF MM 42,000 502,000 A 460,000
101 @124l 2,000 2,000 0
04 JIZtHZ22HEE = 2,000 2,000 0
OFAI=E &3 HH 2 2,000,000& 2,000
401 A& HI R 201 I 30,000 490,000 A 460,000
01 A& HI 30,000 490,000 A 460,000
O=gYll=dH A B 30,000, 000& 30,000
405 RHoHE S HI 10,000 10,000 0
01 et EFSFHSHI 10,000 10,000 0
O=sgllasdd &Jl7d 10,000, 000& 10,000
SgsEUM XA 81,500 167,100 85,600
201 Let24d] 53,500 57,500 A 4,000
01 At 2teltl 26,500 30,500 A 4,000
OB+t 16,000, 000& 16,000
OSsE U ABMAFHYOS +g
6,000,000& 6,000
o=l 2,000,000& 2,000
ogxz 2,500,000& 2,500
02 =224l 27,000 27,000 0
03323 % HA 11,000, 000& 11,000
O & At22| 5,000,000& 5,000
O Xt& & Bl 11,000, 000& 11,000
202 044l 16,000 17,600 A 1,600
01 = LH o4 1l 16,000 17,600 A 1,600
O22EZ 0 16,000, 000& 16,000
203 ¥R =&l 10,000 10,000 0
03 A=A H 2 =AH| 10,000 10,000 0
O=geltH 43 R 3,000,000& 3,000




SN SEMD
HE: sS04 B B (SYHLLM/5Y - 55)
H?: sPASSH JIBtxH (Sl & &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=sZANH gRF2 3,000,000& 3,000
O=det0td=H M A RF& 2,000,000 2,000
OSAHRS0I2 AHAY ARET
2,000,000 2,000
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
OLESHAA BANE sS4 & WP
2,000,000& 2,000
SETUME SHEAA X2 240,000 240,000 0
307 21201 A 240,000 240,000 0
04 DIZHHALALSE E X 240,000 240,000 0
OMEA =HE0LE SHSEA X
240,000,000 240,000
sty stz N 150,000 150,000 0
307 21201 A 150,000 150,000 0
02 LB AAFEX 150,000 150,000 0
Os0gge DwdiH si=s X&E
150,000, 000& 150,000
=2 Mol et IBHE XA 110,670 110,670 0
< 45,570
Al 65,100
307 glz2+ol & 110,670 110,670 0
< 45,570
Al 65,100
02 QB HAANGEEE 110,670 110,670 0
O=sgel Mol dXdZBHZE X& 110,670,000& 110,670
< 45,570
Al 65,100
SE=NEH 39,830 39,830 0
J| 28,830
Al 11,000
SXOISEAENEA X 28,830 28,830 0
J| 28,830
101 @124l 26,616 26,616 0
J| 26,616
04 DIt 22 HEE =+ 26,616 26,616 0
O=sXOISAEHEZAL XI& 26,616,000 26,616
J| 26,616
201 ¢4l 2,214 2,214 0
J| 2,214
01 At 22l 2,214 2,214 0
O=XOISAEH=AL I 2,214,000& 2,214
J| 2,214
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A sFLD
HE: sS04 B B (SYHLLM/5Y - 55)
el oM eIy CER-ED
_ = (o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 700
Al 700
09 HAIAHI BEAZ 1,400 1,400 0
O4-HEH D= 1,400,000 1,400
=2 700
Al 700
HUE4-HE IH DS X 4,500 4,500 0
= 1,350
Al 3,150
201 et 1,500 0 1,500
& 450
Al 1,050
01 AR 22l ] 1,500 0 1,500
OFHE4-HS MAH ws XA 1,500,000& 1,500
& 450
Al 1,050
206 T2 Hl 2,000 0 2,000
< 600
Al 1,400
01 X2 H| 2,000 0 2,000
OFUE4-H3 IAH wEs XA 2,000,000& 2,000
o= 600
Al 1,400
301 et A= 1,000 0 1,000
& 300
Al 700
09 HAIAHI BEAZ 1,000 0 1,000
OFHE4-HS MH wWs XA 1,000, 0008 1,000
& 300
Al 700
st4-Hg BMEs X3 6,000 6,000 0
= 1,800
Al 4,200
201 gBt24A | 1,500 2,000 A500
o= 450
Al 1,050
01 AP 22| H| 1,500 2,000 A 500
Os& W 4-H3| HHES XA 1,500,000 1,500
& 450
Al 1,050
301 et A= 4,500 4,000 500
& 1,350
Al 3,150
09 HAIAHIBEAZ 4,500 4,000 500
O W 4-H3| HHEsSs XN 4,500,000 4,500
o= 1,350




SH ==
B SEAY A ASH(SYNSLL/SY - SE)
el oM eIy (el @2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
| Al 3,150
4-Hg| =22 UERZ &5 N&E 9,000 0 9,000
< 2,700
Al 6,300
301 gtE L= 9,000 0 9,000
< 2,700
Al 6,300
06 212+l =2l 04 Hl 9,000 0 9,000
O4-Hsl =222 UHWERD &8s X
9,000,0002 9,000
= 2,700
Al 6,300
NZ24-HER 1 N 4,500 0 4,500
= 1,350
Al 3,150
201 Lt 2| 1,000 0 1,000
< 300
Al 700
01 At22t2l bl 1,000 0 1,000
OANZ4-HESR W= N2 1,000,000& 1,000
=) 300
Al 700
301 et a = 3,500 0 3,500
=) 1,050
Al 2,450
09 &AL HI B &S 3,500 0 3,500
OANZ4-H=2R W= XN 3,500,000 3,500
< 1,050
Al 2,450
MEINME X 23 10,000 10,000 0
< 2,000
Al 8,000
201 LEr2A | 10,000 10,000 0
< 2,000
Al 8,000
01 At 2t2l bl 10,000 10,000 0
OMEIMHE BEXN B 10,000, 000& 10,000
= 2,000
Al 8,000
SHPYO RSN 23 46,452 46,452 0
= 9,322
Al 37,130
201 Yet2 | 46,452 46,452 0
< 9,322
Al 37,130
01 ArR2t2ltl 46,452 46,452 0




EAN: sS4t
B SEAY A ASH(SYNSLL/SY - SE)
el oM eIy
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %Eﬁ
Osg0 REHFEXN E=2 46,452,000 46,452
=} 9,322
Al 37,130
SEXNEX sEEHEX K& 17,200 17,200
= 3,440
Al 13,760
201 et | 17,200 17,200
& 3,440
Al 13,760
01 AP 22| d| 17,200 17,200
OsZEXNEXN sg€d2X XN 17,200,000& 17,200
= 3,440
Al 13,760
4-H3| sSEEEX XS 10,000 10,000
o= 2,000
Al 8,000
201 et 9| 10,000 10,000
o=} 2,000
Al 8,000
01 AP 2t 2| bl 10,000 10,000
O4-H3 sEHEX A& 10,000,000 10,000
& 2,000
Al 8,000
SHII=<0] XN& 19,125 19,125
& 4. 471
Al 14,654
301 LEtE A= 19,125 19,125
& 4,471
Al 14,654
12 JIEtE2 A= 19,125 19,125
OsJt=<0 X 19,125,000 19,125
o= 4. 471
Al 14,654
sHI| OIS2ss=24 A& 18,700 18,700
& 5,610
Al 13,090
307 QI2t0| ™ 18,700 18,700
= 5,610
Al 13,090
02 QI2tAAMAIE E =X 18,700 18,700
OsHIINIS2S=2A X2 (<Hl) 18,700,000 18,700
= 5,610
Al 13,090
=) 0I2Z2s34 N (XA) 20,000 20,000
307 2Iz2t0| & 20,000 20,000




SN SEAD
HE: sS04 B B (SYHLLM/5Y - 55)
el oM eIy CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 20,000 20,000 0
OsHJl 0ts2= =4 XN (XHA)
20,000,000& 20,000
HsQl et FEAA 13,500 13,500 0
< 4,040
Al 9,460
307 glz2tol & 6,000 6,000 0
< 1,800
Al 4,200
02 IZHE M AHE X 6,000 6,000 0
o= &¢E FAXNYJ(DREH)
6,000,000& 6,000
< 1,800
Al 4,200
402 2I2H X201 M 7,500 7,500 0
< 2,240
Al 5,260
02 QI E2AIE EZ (OIS ) 7,500 7,500 0
OM=se ¢E FAXYA(MEHST)
7,500,000 7,500
< 2,240
Al 5,260
Hedsge B8 b*d N& 135,200 80,000 55,200
< 50,700
Al 84,500
307 gl2tol & 135,200 80,000 55,200
< 50,700
Al 84,500
02 IZHE M AHE L 135,200 80,000 55,200
ONd=g0el Bct2 M X ALY
135,200, 000& 135,200
= 50,700
Al 84,500
s =4 30,000 30,000 0
< 15,000
Al 15,000
301 LB A F 30,000 30,000 0
= 15,000
Al 15,000
12 J|EtE& = 30,000 30,000 0
Oz=HYIIENUE 29 30,000, 000& 30,000
< 15,000
Al 15,000
sEZ2 ZMEBE N 12,000 0 12,000
= 3,600
Al 8,400
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SN SEAD
MY =EMQ A S (SUHLLM/5Y - 5E)
SERPIE S CERED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 255,746
< 80,034
Al 199,159
01 = Hl 534,939 466,304 68,635
Ol =At - 2HAS 534,939,000 534,939
= 255,746
< 80,034
Al 199,159
307 21201 A 278,051 305,000 A 26,949
= 160,625
< 30,938
Al 86,488
02 BI2HH &F A 278,051 305,000 A 26,949
OX MWDEHA = 125,000, 000& 125,000
= 60,000
< 18,000
Al 47,000
OTHY KYHa X (M)
153,051, 000& 153,051
= 100,625
< 12,938
Al 39,488
FHYE LA HEYE PLAXNA (S MBS Al 50,600 49,200 1,400
=Hl X&)
= 25,300
< 7,590
Al 17,710
201 Let24d| 50,600 49,200 1,400
= 25,300
= 7,590
Al 17,710
01 At 22l 50,600 49,200 1,400
O-H HeEH Al =l 50,600,000& 50,600
= 25,300
< 7,590
Al 17,710
SRS Al Ol e AR (A2 4ty 28 73,450 73,450 0
8 HE 2FH)
= 16,950
= 16,950
Al 39,550
201 Let24d] 73,450 73,450 0
= 16,950
= 16,950
Al 39,550
01 At 22/l 73,450 73,450 0
oB=4der 2 W U 73,450,000 73,450
= 16,950
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= 0 W
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22,400
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H
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15,200
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H

Al

15,200

4,560
10,640

15,200

01 M= dl

OFEI AS%E X

15,200,000&
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Al

15,200
15,200
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10,640

15,200
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H

Al
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3,000
7,000

10,000
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H

Al

10,000

3,000
7,000

10,000

02 QX =2AMAE (01 ATHE)

OASAE EXXE

10,000, 000&

=
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7,000

10,000
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= MW
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4,500
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9,000
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X ZH -
L= B

el

SE
SEMY BB LS (STHYSM/5Y - 5&)
oh & e

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OF4t=sJt 284 HIIS MelArg
6,300,000 6,300
= 1,890
Al 4,410
AXHEENS 125,000 125,000 0
= 100,000
< 12,500
Al 12,500
301 et d = 125,000 125,000 0
= 100,000
< 12,500
Al 12,500
12JEEd= 125,000 125,000 0
OaXE sIt24 125,000, 000& 125,000
= 100,000
< 12,500
Al 12,500
39 =2 EX 79,200 79,200 0
< 23,760
Al 55,440
301 et 4= 79,200 79,200 0
< 23,760
Al 55,440
12JIE243 79,200 79,200 0
Oz =¥ 79,200,000 79,200
< 23,760
Al 55,440
SN0/ XN (HM2I] OlEH HEREY) 36,643 36,643 0
J| 18,322
< 5,496
Al 12,825
307 21201 A 36,643 36,643 0
J| 18,322
< 5,496
Al 12,825
02 It S AIHE L 36,643 36,643 0
O#HE 238 XA 36,643,000& 36,643
J| 18,322
< 5,496
Al 12,825
=i == N 14,500 15,900 A 1,400
< 5,800
Al 8,700
307 glz2tol & 14,500 15,900 A 1,400
S 5,800
Al 8,700
02 It HAHEE 14,500 15,900 A 1,400




EAN: sS4t
HE: SEAY AW A (SHLLL/SY - SE)
SRl s (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
oOFME =& X 14,500,000 14,500
=} 5,800
Al 8,700
THOHGHH AMHAE AL 1,500 0 1,500
< 750
Al 750
201 et | 1,500 0 1,500
& 750
Al 750
01 AP 22| d| 1,500 0 1,500
OTHON S H Mo 1,500,000 1,500
= 750
Al 750
SIIHASEI| NEAS 7,000 7,000 0
402 SI2vXHE0| ™ 7,000 7,000 0]
01 St EANSEXR (MM A) 7,000 7,000 0
OFAMU 0lsAal ASIIXSE 7,000,000& 7,000
=358 fegsE NS 11,000 11,000 0
206 M = Hl 11,000 11,000 0
01 2l 11,000 11,000 0
O%x=&g eSS & 11,000,000 11,000
= A ALY 46,000 46,000 0
206 M 2 H| 46,000 46,000 0
01 X2 Hl 46,000 46,000 0
OJIEs dgY XS 218 2@y k=3
13,000,000 13,000
OJ=ENEY 20324 A2 g WAXH (A0
Hidl 2 28) 13,000,000& 13,000
oxcteryd MY 10,000,000& 10,000
OS0LAl EAFY XEAS 10,000, 000& 10,000
s &Y ¢ 435 32,800 33,000 A 200
201 Yet2 | 32,800 33,000 A200
01 AP 22| H| 19,500 19,800 A 300
OJNEAXNZ Al =2 9,500,000& 9,500
OES=EEAl 2+ H& 1,000,000 1,000
OFMsIE AL HAS Xl
1,000,000 1,000
OJIEseY =42 2,000,000& 2,000
OIIFEUAMNEAILZL S| 3,000,000 3,000
OJI=Ea e HS&H X2 3,000,000& 3,000
02 2=2=2494| 13,300 13,200 100
o=222=2 % MA 12,000,000& 12,000
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SN mEAD
HE: SEMY AW AS(SPHYSL /52 - 58)
CHel BaE MY
% 5 - 4
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
= 520
J| 670,301
& 386,509
Al 1,959,883
TAISMAZE D H Y A 100,000 100,000
J| 25,000
= 22,500
Al 52,500
402 SI2FXHE0| M 100,000 100,000
J| 25,000
= 22,500
Al 52,500
02 CIZEXIE A EX (0| XM THL) 100,000 100,000
OXZANSMAZ HIH &HH XE
100,000,000 100,000
J| 25,000
= 22,500
Al 52,500
TANSMAZ AFL2IXHE K& 637,200 637,200
J| 212,400
& 106,200
Al 318,600
402 SI2FXHE0| M 637,200 637,200
J| 212,400
= 106,200
Al 318,600
02 CIZEXIE A EX (0| XM THL) 637,200 637,200
OXAISMAIEZ AL2IXHE K&
637,200,000 637,200
J| 212,400
& 106,200
Al 318,600
TANEMME S22 XS 105,000 105,000
J| 45,000
o=t 18,000
Al 42,000
402 SI2FXHE0| & 105,000 105,000
J| 45,000
= 18,000
Al 42,000
02 CIZEXIEAIS X (0| XM THL) 105,000 105,000
OXZAMNsMAME SX2LY X 105,000,000 105,000
J| 45,000
o= 18,000
Al 42,000
TANE &2 XN 16,700 16,700
J| 8,350
& 2,505

_20_




SN mEAD
B SEAY A ASH(SYNSLL/SY - SE)
ool BaAMAY S CERED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 5,845
101 1Al 13,000 13,000 0
J| 6,500
< 1,950
Al 4,550
04 JI1ZtHNZ22 s+ 13,000 13,000 0
O=ZMZ SEEI 2| 13,000,000& 13,000
J| 6,500
= 1,950
Al 4,550
201 LEr2A | 3,700 3,700 0
J| 1,850
< 555
Al 1,295
01 AtR 22l | 3,700 3,700 0
OXAE SEEI 29l 3,700,000 3,700
J| 1,850
< 555
Al 1,295
S NEEE: 38,280 38,280 0
J| 38,280
402 2I2tXt=01& 38,280 38,280 0
J| 38,280
02 P2 THEALEZ(0IETHE) 38,280 38,280 0
OSMAIEEUZ AL 38,280,000& 38,280
J| 38,280
st M & 0HR & X 2 80,300 80,300 0
J| 35,200
=) 10,560
Al 34,540
307 glz2tol & 80,300 80,300 0
J| 35,200
=) 10,560
Al 34,540
02 It HAMAEE 80,300 80,300 0
OstMSOtME X & 80,300,000& 80,300
J| 35,200
< 10,560
Al 34,540
IE2L HHIAEH X 80,000 80,000 0
J| 40,000
< 12,000
Al 28,000
307 gl2tol ™ 80,000 80,000 0
J| 40,000
< 12,000
Al 28,000




2N

g de gdoigrdt/sY - &)
cHel: %25 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 80,000 80,000 0
Oyl & ZHl XI& 80,000,000& 80,000
J| 40,000
< 12,000
Al 28,000
=R EdHs XA 240,852 240,852 0
J| 120,426
< 36,128
Al 84,298
402 RIZ2FXt201 ™ 240,852 240,852 0
J| 120,426
< 36,128
Al 84,298
02 RIZt 2 AL EZ (OIS ) 240,852 240,852 0
OJMN=E=2r El%dlst X 240,852,000 240,852
Jl 120,426
< 36,128
Al 84,298
HH HEX K& 56,000 56,000 0
J| 16,000
< 12,000
Al 28,000
402 QI2H X201 A 56,000 56,000 0
J| 16,000
< 12,000
Al 28,000
02 QI E2AIS EZ (OIS ) 56,000 56,000 0
OUHI MEFX X 56,000,000& 56,000
J| 16,000
< 12,000
Al 28,000
IFI=ETHEE XA 40,000 40,000 0
< 16,000
Al 24,000
307 glz2+ol & 40,000 40,000 0
< 16,000
Al 24,000
02 HAFHAANGFEE 40,000 40,000 0
ON=MoE2E XI& 40,000,000& 40,000
< 16,000
Al 24,000
dEsIH Al =AE K# 15,000 15,000 0
< 3,000
Al 12,000
402 RI2FXt20l ™ 15,000 15,000 0
< 3,000
Al 12,000

- 22 -




2N sE&D
B SEAY A USSP L &)
CHel BaE MY (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 QI EASEZ (OIS ) 15,000 15,000 0
OZE=sIt 9 ZAlE 2l X
15,000, 000& 15,000
< 3,000
Al 12,000
ZAAS BHIHH 16,800 16,800 0
< 7,200
Al 9,600
402 2I2H X201 M 16,800 16,800 0
< 7,200
Al 9,600
02 QI EALEZ (OIS ) 16,800 16,800 0
O=AAIE &3 H 16,800, 000& 16,800
< 7,200
Al 9,600
IIEEr =222 XA 75,000 75,000 0
< 22,500
Al 52,500
402 RIZ2FX20l A 75,000 75,000 0
< 22,500
Al 52,500
02 RIZEXt 2 AL EZ (OIS ) 75,000 75,000 0
ONEELx =22 XA 75,000,000& 75,000
< 22,500
Al 52,500
SOt AHSX A 60,000 60,000 0
< 18,000
Al 42,000
402 RI2EX20| N 60,000 60,000 0
= 18,000
Al 42,000
02 It 2 AL EZ (O THS) 60,000 60,000 0
Ottt A HLRX KA 60,000,000& 60,000
< 18,000
Al 42,000
SIS A 24,000 24,000 0
< 7,200
Al 16,800
307 glz2tol & 24,000 24,000 0
< 7,200
Al 16,800
02 It M AMHEE 24,000 24,000 0
OgArRds=HEIL 10,000, 000& 10,000
< 3,000
Al 7,000
o=sm d-d= XA 14,000, 000& 14,000
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SN mEAD
B SEAY A ASH(SYNSLL/SY - SE)
ool BaAMAY S CERED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
=) 4,200
Al 9,800
St HAIALY 10,800 10,800 0
< 2,700
Al 8,100
307 21201 & 10,800 10,800 0
< 2,700
Al 8,100
02 HAHFHYANEEX 10,800 10,800 0
OBt AN AL 10,800,000& 10,800
= 2,700
Al 8,100
StRSEAY 33,000 33,000 0
=) 6,600
Al 26,400
307 glz2tol & 33,000 33,000 0
= 6,600
Al 26,400
02 I HAMAEE 33,000 33,000 0
OstRS=EAY 33,000,000& 33,000
< 6,600
Al 26,400
SHLXM NS5 MaEAZ 35,000 35,000 0
< 14,000
Al 21,000
307 glztol & 35,000 35,000 0
< 14,000
Al 21,000
02 UAHFHAEEE 35,000 35,000 0
OESNN NIF MAFAZ X
35,000,000& 35,000
< 14,000
Al 21,000
Hed SN2 AEH X 3,360 3,360 0
= 1,680
Al 1,680
307 glztol & 3,360 3,360 0
= 1,680
Al 1,680
02 (I HAMAEE 3,360 3,360 0
oz ad 4= esH N 3,360,000 3,360
=) 1,680
Al 1,680
S X EAY 48,000 48,000 0
& 19,200
Al 28,800
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2N
X ZH -
L= B

el

SE
SEMY BB LS (SPHSS/S
EREL R

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 48,000 48,000 0
< 19,200
Al 28,800
02 PIZHEHAHE L 48,000 48,000 0
OH4=sdn XA 48,000,000& 48,000
< 19,200
Al 28,800
RAarsdNe 26,966 26,966 0
< 5,013
Al 21,953
307 glz2+ol & 26,966 26,966 0
< 5,013
Al 21,953
02 YAFHAANFEE 26,966 26,966 0
Ottr =833 XA 11,372,000& 11,372
< 1,895
Al 9,477
OsgE M & 15,594, 000& 15,594
< 3,118
Al 12,476
LSAH TN ALY 38,000 38,000 0
< 15,200
Al 22,800
402 RI2EX=20l A 38,000 38,000 0
< 15,200
Al 22,800
02 LA TEALEZ(0IETHR) 38,000 38,000 0
OA3o AZME At 38,000,000& 38,000
< 15,200
Al 22,800
stnesasa XA 216,075 216,075 0
J| 129,645
= 25,929
Al 60,501
307 21201 A 216,075 216,075 0
J| 129,645
< 25,929
Al 60,501
02 It S AT EL 216,075 216,075 0
osgtunesraa A 216,075,000& 216,075
J| 129,645
< 25,929
Al 60,501
AL M A DI BHEt S 105,000 115,000 A 10,000
206 M= Hl 8,000 8,000 0
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SN mEAD
B SEAY A ASH(SYNSLL/SY - SE)
CHel BaE MY (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OF A THEHOIR AIAE(CCTV) X2
20,000,000& 20,000
OrEd MY AZH X 30,000,000& 30,000
O==dMasIt 54 X 15,000, 000& 15,000
OFSMAYMNE IHSIZ0l Al K&
40,000,000& 40,000
SHREHE 54 183,000 175,000 8,000
201 et 5,000 5,000 0
01 At 22l 5,000 5,000 0
ODSFUAAER BERHE EE22 HA
2,000,000& 2,000
osd=E BdHE XA 3,000,000& 3,000
206 M= Hl 20,000 20,000 0
01 =8l 20,000 20,000 0
ostEHE E=ZUH XA 20,000,000& 20,000
307 21201 A 4,000 4,000 0
04 QIZFHALAIRH B = 4,000 4,000 0
OStREIANXNE DEUAIEE LRSI W=
2 A X 4,000,000& 4,000
402 RIZ2EX20l ™ 154,000 146,000 8,000
01 RIZE Xt 2 AL E = (REATH &) 154,000 146,000 8,000
OZFdAIEER HAEA=S XA
85,000,000& 85,000
Ot UHA As=3 XY 7,500,000 7,500
0ns™y 24 o5 Fedz XA 12,500,000 12,500
oAzgsI XA 24,000,000 24,000
Osgte B Z2H XA 25,000,000& 25,000
steAHE 4 XA 67,500 47,500 20,000
402 BI2FX=201 M 67,500 47,500 20,000
01 2I2E 2 AE B (KM ) 67,500 47,500 20,000
Oste =g 0la X 27,500,000& 27,500
ooZE+d FE3 A XN 20,000,000& 20,000
0BS QBRI JBEL AY
20,000,000& 20,000
HARTOHSALS 140,000 163,000 A 23,000
307 21201 A 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
OY==s283 MIAMANR ZA=sIF nsH Y
AL K 2,000,000& 2,000
402 RI2FXt20l ™ 138,000 161,000 223,000
01 212t 2 AL E = (RER ) 138,000 161,000 A 23,000
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A sFLD
HE: SEAY A A (SHLLL/SY - SE)
el EMFMHYS (Sl &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OHY =AML AMI(HKRE MHE) 7,000,000 7,000
O~ MEM XA 18,000,000& 18,000
OXA HEEX SHNM X & 8,000,000& 8,000
OANEE BEHINAE K& 20,000,000 20,000
oY= =RME> HSGANE NS
40,000,000 40,000
O4Ys FEE PFER AZTLHI| XL
45,000,000 45,000
A= - A2 DXL AY 161,000 79,000 82,000
307 QI2t0| ™ 2,000 2,000 0
04 CIZ2tSHALALS B X 2,000 2,000 0
OUHSHA=EIAEANXNE d=EsIH WH Y
SHAL X & 2,000,000& 2,000
402 SI2VXHE0| & 159,000 77,000 82,000
01 SN EAIS EXR (M) 159,000 77,000 82,000
OUX=&E W - e X 7,000,000& 7,000
O=A 3J1 &€ MOl XN 5,000,000& 5,000
O%=E AF=2201D] K& 6,000,000& 6,000
OXE==sIE &5 X KNS 25,000,000 25,000
o=xdg 20t t=AN& 30,000,000 30,000
oOYZE MNEMLD X 10,000,000 10,000
OWX &8 B Wz N 50,000,000 50,000
OAH 282 otEZEH|(&=2d) X
6,000,000& 6,000
ogE Ax2 X 20,000,000 20,000
SIss 25 XN 66,000 42,000 24,000
206 M = Hl 6,000 2,000 4,000
01 X2 H| 6,000 2,000 4,000
SIs2 25 AMFY & AIZXH
5,000,000& 5,000
ORIIsE MNEas 4531 1,000,000 1,000
301 et A= 60,000 40,000 20,000
12 JIEtE2 A2 60,000 40,000 20,000
oORJIIs=S2e 60,000,000 60,000
SESENMY 1,000 1,000 0
201 et 1,000 1,000 0
01 AR 22l ] 1,000 1,000 0
Os=2sS8 Ud =22 X2 1,000, 0008 1,000
YZBUE SHAY 6,480 0 6.480
& 2,160
Al 4,320

_28_




EAN: sS4t
HE: SEAY A A (SHLLL/SY - SE)
Sl BAYWAYS (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
402 SI2FXHE0| M 6,480 0 6,480
= 2,160
Al 4,320
02 CIZEXIE A EX (0| XM THL) 6,480 0 6,480
OYBEUCS SHAY 6,480,000 6,480
= 2,160
Al 4,320
SIs2 Y2ddl XN 1,300 0 1,300
=2 520
= 234
Al 546
307 QI2t01 & 1,300 0 1,300
= 520
< 234
Al 546
02 QI2tAAMAIE E =X 1,300 0 1,300
ORJI=s2 LHl XS 1,300,000 1,300
= 520
< 234
Al 546
HEeES(s=M)(sHHSYEA/sH - =5) 500,000 500,000 0
WEHN X = 500,000 500,000 0]
JIEtSHE =2 500,000 500,000 0
701 JIEISI HSEE2 500,000 500,000 0
01 JIEtSI HE &= 500,000 500,000 0
OsHYLHIIZSELIH &2
500,000,000 500,000
HEMSHAY| (S=4AD)(DIEH/DIEH 221,307 206,304 15,003
ol =2 dH| 92,107 83,904 8,203
ol =AY 92,107 83,904 8,203
101 Q124 H] 92,107 83,904 8,203
01 2 88,567 80,364 8,203
oxlZ2LE 88,567
SY=] 10,075% x4 x40 A| 2t *x12& 19,344
o7z 10,299& 6% x40 Al 2t 12& 29,662
o9z 8,357 x1H *x40A| 2+ 12E 4,012
o Xl & A} 34,177
-218 20| &t 10,7513 x1H «40A| 2tx12& 5,161
-20&= 20|35t 10,0753 6 40 Al 2t <128 29,016
oXRIMA 76,169,000 *1.8% 1,372
02 JIEH& &2 %= 3,540 3,540 0
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<

n0

Kio

Hl w

6,800
6,800

6,720
6,720

80

H3r
Wikd
RIS

122,400
122,400

47,920
23,920

24,000

63,840
63,840

10,640
4,000

Off &t 24

3,540
129,200
129,200

47,920
23,920
13,920

2,000
8,000
24,000
22,000

2,000
70,560
70,560
70,560

10,720

4,000
4,000
2,520
2,520
4,200
4,200

F)(DIEH/JIEH)

1H *40AI 2Hx 128

2l x

7,373&

30
0
J
all

2|

=

=

13,920,000

01 At 22l bl

2

2,000,000
8,000,000

n0
no

2

s
R

ol

30
0
Mo
M0

2|

=

2|

=
=
o
=

22,000,000
2,000,000
128219

=
=

2| %

=

280,000

RIEAl

2
01 =LHOIHI

202 Oddl

KJ
KE
ok
ol

2

4,000,000

30
OH

ey

w

Edl

<

31
Ho

80

2,440
4,200

2|
- 30 -

=

128

2l *

2,520,000

350,000

02 &t




